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Passage 1

1) Genetic engineering holds great potential payoffs for farmers and consumers by making crops re-

sistant to pests, diseases, and even chemicals used to kill surrounding weeds; but new research raises

concerns that altering crops to withstand such threats may pose new risks — from none other than the
weeds themselve%xis is due to the weeds’ ability to acquire genes from the neighboring agricultural

crops. Researchers found that when a weed cross-breeds with a farm-cultivated relative and thus acquires
new genetic traits — possibly including artificial genes engineered to make the crop hardier — the hybrid
weed can pass along those traits to future generations.

said Allison Snow, a plant ecologist at Ohio
1

“The result may be very hardy, hard-to-kill weeds,’



State University in Columbus who conducted the experiments over the past six years along with two col-
leagues. They presented their results last week at the annual meeting of the Ecological Society of America
in Madison, Wisconsin.

2) The findings suggest that genetic engineering done with the aim of improving crops — growing the

new genetic traits such as resistance to herbicides or pests — could ultimately have unintended and harm-

ful consequences for the crops if weeds acquire the same trait and use it to out-compete the crops. “Gene

movement from crops to their wild relatives is an ongoing process that can be ultimately harmful to

]

crops,” said Snow.

The results of the experiments challenge a common belief that hybrids gradually die out over several
generations, Snow explained. “There has been an assumption that crop genes wouldn’t persist in crop-
weed hybrids” because hybrids are thought to be less successful at reproducing, she said. However,
Snow’s research contradicted this assumption: Hybrid wild radishes survived in all six generations that
were grown since the study began.

3) Although the genetic traits the scientists monitored were natural and not genetically engineered,

J . . . . . -
the findings nonetheless suggest that artificial improvements introduced into crops through genetic engi-

neering could spread to weeds and become permanent traits of the weed population.

So strengthened, the weeds may pose a serious risk to the long-term health of agricultural crops. 4)

The danger exists in a number of crop plants — including rice, sunflower, sorghum, squash, and carrots

— that are closely related to weeds with which they compete. Snow is concerned that the transfer of genes

from crops to related weeds could rapidly render many herbicides ( chemicals which kill weeds) ineffectu-

al. That situation, she said, would be much like bacterial diseases acquiring resistance to antibiotics.

5) Because plant hybrids arise in a single generation, however, it could happen much more quick-

ly; “Modern agriculture is heavily dependent on herbicides,” she said, “so people will notice when

those don’t work anymore. ”

1. The word “this” (Line 4 ,Pafa. 1) probably refers to

[ A] threats posed by chemicals used to kill weeds. [B\]x"ﬁsks of altering crops’ genetic makeups.
[ C] dangers inherent in the nature of weeds. [D] the results of recent research.

I 2. According to the passage, genetic engineering can be used to

" [A] kill weeds through cross-breeding.

[ B] make crops hardier.

[.C )/ improve the yield and quality of most crops.

[ D] make crops resistant to chemical fertilizers.

|»3. That genetically modified crops could have harmful effects can be deduced from the fact that

" [A] gene movement between cultivated plants and wild ones is inevitable.

[ B} new research shows that genetically modified plants are likely to develop into weeds.
[C] cross-breeding is a natural process.
[D] hybrids are generally more successful at breeding than natural plants.

{~ 4. The potential for hazardous weeds developing from genetically modified plants is greatest for

\ /

[A] crops who rely on herbicides and pesticides for effective harvests.



[ B] areas in which cross-breeding is Kept to a minimum.
[C] agricultural crops grown for their content.
[D] crops that are closely related to weeds.
5. The author implies that the main impact that gene transfer between crops and weeds could
have is
[ A }/the rapid development of unintended plant hybrids.
[B] the collapse of the agricultural industry.
[C] the development of pest and herbicide-resistant weeds.

[D] the difficulty to determine the given nature of current research.
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Climod Passage 2

Climatic conditions are delicately adjusted to the composition of the Earth’s atmosphere. If there
-~ ?N"}/—‘
/ﬂf‘x{}' S = MO
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were a change in the atmosphere — for example, in the relg’uve proportlons of atmospheric gases — the
climate would probably change also. A slight increase in water vapor for instance, would increase the

heat-retainin, capac:ty of the atmosphere and would lead to a rise in globa1 temperatures. 1) In contrast,

¢ incredse in water vapor would increase the thickness and extent of the cloud layer, reducing the a-

mount of solar energy reaching the Earth’s surface.

The level of carbon dm;lde , CO,, in the atmosphere has an important effect on climatic change. 2)
Most of the Earth’s mcomlng energy is short-wave-length rqdlatmn which tends to pass through atmos-

pheric CO, easily; the Earth, however, reradltte’s much of tfle received energy as long-wave-length radia-

tion, which CO, absorbs) and then rer}nts toward the Earth. This Eh—nom , known as the greenhouse

/%
ﬁc_t_‘ can result in an increase in the safface temperature of a planet. J(n extreme example of the eftéct ~

throg:m by@ a planet covered by heavy clouds composed mostly of CO,, whose surface tempera-
tures have been measured at 430°C. If the CO, content of the atmosphere is reduced, the temperature
falls. 3) According to one respectable theory, if the atmospheric CO, concentrgtion were halved, ,the

Earth would become completely covered with ice; another equally respectablé7ﬁféfory, howeve;r,wvs htes

that a halving of the CO, concentration would lead only to a reduction in global temperatures of 3°C.

If, because of an increase in forest fires or volcamq activity, the CO, content of the atmosphere in-
creased, a warmer climate would be produced. Plant gromh which relies on both the ‘warmth and the a-
vaxlablllty of CO,, would probably increase. As a consequence, plants would use more CO,. Eventually
CO, 8561 would diminish and the climate, in turn, would become cooler. With reduced temperatures
many plants would die; C(j wo‘uld thereby be returned to the atmosphere and gradually the temperature

would rise again. 4) Thus, if this process occurred, there might be a long-term oscillation in the amount

of CO, present in the atmosphere, with regular temperature increases and decreases of a set magnitude. .

Some climatologists argue that the bumi{‘h‘gl of féssil fuels has raised the level of CO, in the atmios-

phere and has caused a global temperature increase of at least 1°C. 5) But a supposed global temperature

rise of 1°C may in reality be only several regional temperature increases, restricted to areas where there

are many meteorological stations and caused simply by shifts_in the pattern of atmospheric circulation.

Koy A

Other areas, for example, the South Hemisphere oceanic zone;~may be experiencing an eqmvafént tem-

perature decrease that is unrecognized because of the shortage of meteorological recording stations.

1. The author is primarily concerned with ] ’7‘ {}:{‘
[A] explaining the effects that the burning of fossxl fuels might have on climate.
[ B] illustrating the effects of CO, on atmospheric radiation.
| €] discussing effects that changes in the CO, level in the atmosphere might have on chma{e/
[ D] challenging hypotheses about the effects of water vapor and CO, on climate.
2. It is implied in the passage that a large decrease in the amount of CO, in the atmosphere would
re)sulﬁn\ B
[ AJ At least a slight decrease in global temperatures.
B | at the most a slight increase in s}}aé -wave-length radiation reaching the Earh‘ny

[C] a slight short-term increase in atmospheric water vapor content. /»g 2
[D] a large long-term increase in the amount of volcanic activity. 7
! e vl
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> KBOEH i

Which of the following questlons does the passage supply information to answer?

A] Why are projects of the effects of changes in water vapor levels on the climate so inaccurate?.
B] What are the steps in the process that takes place as CO, absorbs long-wave-length radiation?
CT How might our understanding of the greenhouse effect be 1mproved if the burning B&fossﬂ fuels

were decreased?

.| D ]/What might cause a series of regular increases and decreases in the amount of CO, in the atmos-
/

" phere?
The passage suggests that if there were a slight global warming at the present time, it would be
1\A]Zasy to measure the exact increase in temperature because of the abundance of temperature re-

[4

cording stations tbroughout the world.
' B easy to prove it %he warming was caused by an increase of cloud cover.
[c] easy to demonsirate the effects of the warming on the water vapor in the atmosphe\i\
6‘\ difficult to prove that the warming was caused by the burning of fossil fuels. \
What does the word “oscillation” (Line 6 ,Para. 3) most probably-mean?

[A] Snatch. 1 - B | Swaying. [ (] Shding. D1 Slant.
L /‘)‘ﬁﬂ"}i\ \ ]_.‘/—)-’——,E.. L\:/_}r__x..,g,;;%?.n [ o 2

1,

77 A ff‘“;]’

In contrast, a large increase in water vapor would increase the thickness and extent of the cloud layer, re-
ducing the amount of solar energy reaching the Earth’s surface.

[#R4F] 4 F “in water vapor" 15-/4% “ increase” ; “reducing” 7] ¥ #9 4215 1F JK #& ; “ reaching the Earth’ s
surface” 154 “ solar energy . “in contrast T RL AR '51#&]}51" “thickness” fL & m“ B & ; “extent”
ERCER ;"cloud layer” BERE }2"

(A&] ZUSEHEX. TR,

. Most of the Earth’s incoming energy is short-wave-length radiation, which tends to pass through atmospheric

CO, easily; the Earth, however, reradiates much of the received energy as long-wave-length radiation,
which CO, absorbs and then remits toward the Earth.

[fR#F) 4 F & AN“which” 5] $8 Z 35 Mk 6) £~ #1 45445 “ short-wave-length radiation” #= “ long-wave-length
radiation” , “short-wave-length” & i 8%, “ 423% " ; “ pass through” Fiif & “ Fi&" ; “reradiate” B & “ F 38
47 remit” f1 3K BAL”

. According to one respectable theory, if the atmospheric CO, concentration were halved, the Earth would be-

come completely covered with ice; another equally respectable theory, however, states that a halving of the
CO, concentration would lead only to a reduction in global temperatures of 3°C.

(BBT] & Fif " 3] 9 R A HRIEME ; “that” 7| Fe9 - KIEME . “respectable” B # &K AT §
¥ 45”7 ;“concentration” B g “4-&" ;“be covered with” & g “ Ak -+ BL”.

Thus, if this process occurred, there might be a long-term oscillation in the amount of CO, present in the at-
mosphere, with regular temperature increases and decreases of a set magnitude.

[#&4F] & & “this process” 3§89 £ 37 @32 5] 69 A % ; “ there might be” 7| §-49 & — AN H14) ;“with” 7]
F #9455 1E K5, “oscillation” B F R K S ; “amount” HIFRAE”; “set” HFREZH”

But a supposed global temperature rise of 1°C may in reality be only several regional temperature increases,
restricted to areas where there are many meteorological stations and caused simply by shifts in the pattern of

atmospheric circulation.

AR



[#B47) 4 P “restricted to” 3] §44 42354k & 351545 “ temperature increases” ; “ where” 3] § 69 & & M 4]
1545 “ areas” ; “and caused” 3| F #9 4235 & “ restricted to” 4235 #9 3 7| R %, AL 4F £ 5145 4% “ temperature
increases” , “supposed” B & “ B R P #” ;“ meteorological station” 5§ %, “ %, £ 35" ; “ atmospheric cir-
culation” B R KRR .

> BERNLERALCEN

S 4% (climatic ) £ R ( condition ) #& % 4 3o 2 % , vA 48 18 R (adjust ) 3 3k K 5 ( atmosphere ) #4 #4 BY
(composition) , R KA A A T E——de, K & P 69 LAk 69 8 3¢ (relative ) bk il ( proportion) & 4 FF
4k (change) , #F 2 S & (climate) 4.4 & 4 T 1L, Fodn, 7K 7&K (water vapor) Hof) 64 234 38 K R & (in-
crease ) X A, {7 ¥5# B (heat-retaining) #J BE 77 ( capacity ) , 7 L 532 (lead to) £ 3 iR ( temperature) #§ k£
Ft(rise), 1) 5 AR, K &R & K 18 & 3 Ao i§ X B (layer) #9 /B B ( thickness ) &5 B BE (extent) , i§ 2D (re-
duce) %) ix 33 " @A (surface) # A PH (solar) BE & (energy) .

k%?—‘—i&&%ﬁ!ﬁg@) AR RACH £ 2R (effect) . 2) 32K TR B (incom-
ing) X % # #t & & 55 (short-wave-length ) 48 8% (radiation) , iX #3341 4242 7 vA 52 §) B iE (pass through) X
AP 8 R AE ; R, R Lie Bk 69 6 F K & K K 48 41 & 8 (reradiate) &, i = Sk s 7T A R I
(absorb) iX #k K ik 33 44, AR5 A FE X (remit ) | 3 3% . iX A I & ( phenomenon ) #. 2 BT &1 Y (known ) ;B =
¥R (greenhouse effect) , € #6485 S B (result in) — /M2 Bk (planet) X BB F 8 5. AL — AR
B TR RFE TIEX(throw)—42 22 —ABE (planet) FRFZEH 2R XL LT 2R Y
— R A s B ( compose of) # , B H AT & ( measure ) 4 2 & & 498 B A 430C -ﬁu%ki’;\,'{’_‘_iﬂb
BOSERY ,PARERE TS, 3)RE - FHEFSEERK (respectable) I if (theory) , R XA ¥ =
F bz ey & B (content) B F , AR 2R E LT LMKE(ice) BE; KM, A —FHEFE TN S,
—§. 45 69 & B (concentration ) B, ¥ R & FH KB E THE3C,

W REAFZRKREIK LG EH ALK ST T A2 B2 FHEEPGLIR. KN A
KT hmbe——H 4 &9 & KR (rely on) TREFI (warmth) 6§ 5,4 | do4% 31 T UL (availability) = &,
ek, SR HHBLBRKESH_BE, e, SBABGLSTRELRS ATk, A BEHFLTRE
A, B TREBREIK,F ZHDELRT; — A E AR E (return) 3| X £ &, 33k 6g 2,08 & % 4
B0 4) VA, ke RiX —FF2 (process) X A 8945, F 2w TA BN A S . EIE S E (set magnitude) 5 & ¥
XA R TN (regular) X 4 , B 3T KK F = RAHK S48 T A — A K 469 B Bh (oscillation) .

— S &RF R (climatologist ) IA 4 , BT P BRHL (fossil fuel ) 2 F KA F —RALB & T, F5
ARGBEEIHEHT 1IC, 5)2R , BRPAI(supposed) 23K 8 ICHEFF LT AR UAREH A
B & AR T A #F £ S i4 (meteorological station) # 3 X , 3 B R £ & T KX S IRt (atmospheric circu-
lation ) F 38 ( pattern ) &4 B{3F (shift) AT §- 8 89, AR K, oo dy F 3K 69 ¥ 8 (oceanic zone) , T 4L E£
B & BV AE 6 SR MK, by T8k & R K38 X FF 3858 48 BIA AT (unrecognize ) . '

> BEERSHR

1 EEEEXET
[A] BB YRR B AT B X SR = A B
[B] R —E A KB =AW,
[C] Bt RE P = E A& B A9k AT REXT AR = A 0
[ D] BkARA XK AT SR = A R B [c]
[fR4F] 288, XFE LERDEMY KT, B E B R AR R AL ATE




LB E AT KA P RN EG L BT A B IR TR Y0, REEGHAAT
FAGH R E—FEFEETNER R RAT ARG S FRFE, FLARREL T LMK E
BE; 5 —AWEREETNERFR, —AAMRN LS TRFRLFHRRYBAETHIC; »REAA
ARERKLHED RN EG S TN T 2B FHERPOAE R X —SRE AL 65,
Med TRABRGAH . BELENR S EIHAZANERL AL, ATKRAPT ALK GE TR THR
A—ARMey ks, XA MEIRZXREOR _ANRELSZTH TR TRDRE T L YR,
C AR 3. “ discussing effects that changes in the CO, level in the atmosphere might have on climate” ,iX 5
LEHEEHHF, AR BAFD A=ZARARFLBENEL, RELARAILFHFUEE,

- ASCHEAR : R R AR & B R BT R 2 3L )
[A] EALRKIBLIF ML, [B] ZEZFHRIERAH LR / \
[C] RRHKESESEMLEFEHEL [D] kil sh B AHR BE R BN / [A))
[fRHr] #itH, XFF_RBRFH . RRATZ RS TR, ﬂFZm}R'ﬁté‘Tf‘? *R*E“"ﬁ’/
EREEHRL, wRXATFT ARG S TRF RARRELZ LMK ERL ;5 —HEREE
MR FR, —ENBENLS BRI RLFHURNEBETHEIC, XA - KA TP —ALELSETHK
WY FEORBEE VY THR3C, AR PH."at least a slight decrease in global temperatures” ,
ZEXFHELMS, BACAFD A=ZRANEEXFHELRHF,

- AR B EE T T EEA ’

[A] RAH KKES S BS54 R e M RH I B A0 A e 7

[B] Ffi&E — S LR B RS EX I B R A TH A2 5?

[C] WSET YR BRI BT AR A TRATA IR AL R T A% 7T BE4n{eT fms& 2

[D] 1+2\Tﬁ§§rﬁj(*x¢‘ SRS R — R 5 A AL A ? . [D]
[(RBH7] J2#H, BB T KT RSN S E A LR T A R Y, AT
W R SRS —ENBELTZ AN LA PRI TEERAE; FZRIER 2 REAARKR
KRKLHEH —RUBEN L TR RT F2ELFHEEROE; FORI . — R EF R
KRBT R R AT RN B L ZH N, FHAERYBREEIHFHT 1T, XHA A
AP AA—HALAFH AR ES T R Y ?, DA P4 What might cause a series of
regular increases and decreases in the amount of CO, in the atmosphere?” ,iX 5 X ¥ &) & &484F. A B
FiAe CREZRARR R F L6 19

. ASCHE R AR BRI 2R KEA R — S8 Bk

[A] ASWERE EFA AR, AR ITFZREN R,

[B] AL KB EARE T EREZREEE M 2EHM.

[C] B HBIEFHRX KR KBB4 R

[D] #MELMESE : FHRZ B TR YR BT R 2 . [D]
[MBi7)] #iH, XFRE—BKE . BEPHLRABICEFRLTRERRZAANMRRKG KB
BHARTHASARSEGRE FFAREG TFRARAH X GE LA FH; LK, od ¥
REGEET THREZR %n#ﬁ‘] KBBEIK, B ‘T“ﬁt/’ :Lg?a’ii“i,liﬁ]‘&m&ﬁﬁ'il JAATEG AT o

prove that the warming was caused by the bummg of fossil fuels” , iX,—‘Tj LEHEZAAF. AFR.BAFC

RERARE LFHEEMA

. BiA]“ oscillation” (55 = BUSRAAT) BATREM BB R A7

[A] #H [B] #&3h. [C] #FT. [D] &, [B]
9



